Menofya University‘ Risk Management Final Term Exam ( 2 Hrs. )
Faculty of Commerce English Sec. 1" year 7/6 /2015

Exam Time is 120 minutes

Part One (9 degrees)
Q. 1) ( 6degrees)

Find the cost of a risk if you have the following data :
>T.P.A. = L.E. 160,000 ( B.V.) but (M.V.)=125%
> LR. 825 %
> Cost of Reduction 8 %
> Cost of Transfer 3.75 %

Layers 1 2 3 4 5
Loss Limits ? 30 - 50-175 ? 90 -
Reduction

Amount( L.E.) 3000 8000 11000 14000 23000
Transfer

Amount (L.E.) 6200 10000 18000 22000 30000

Q.2) ( 3degrees)

Type in search of Risk Management in Banks .

Part Two (6 degrees)
(1) Define Risk .

(2) Compare between " Objective Risk " & " Subjective Risk " .
(3) Explain term " Peril ".

(4) Explain term " Hazard ".
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Q. 1) Explain Law of Large No. 1.5 degree

Q. 2) Rewrite the following words &Translate to Arabic (30 words ) 3 degrees

*F.P.A.
* Guaranteed Creditor

* Sub-Agent

* Current Account

* Average Statement

* Notice of Cancellation
* Floating Policy

* Insurance Broker

* Due

* Depreciation

* Freight
* Carrier

* Arbitration

* Premium

* Condition of Average
* Insurance Contract
* Free on Board

* Guarantee

* Damage Repairs

* Damage by Explosion

* Fraction
* Cover Not

* Bill of Sale

* Arbitration

* Bill of Entry

* Co-Insurance

* Physical Hazard
* Declaration

* Delivery Order

* In Force
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Balance sheet
December 31, 2015
\'$
[ &

ash 50000
Receivables 100000
Inventory 720000
Plant and equipment ( net ) 210000
Total assets 452000
Accounts payable 86000
Long-term debt 100000
Common stock 50000
Retained earnings , 31/12/2014 216000
Total liabilities and stockholders' equity 452000
Revievant exchange rate for year 1 are as follows (

US $ per Cz) :

January 1, 2014 50.84

June 1,2014 0.095
Average for 2014 0.096
November 15, 2015 0.1
December 1, 2015 0.105
December 31,2015 0.11

The cruzeiro is the primary currency that Gramado uses in its day-to — day operations . The
cruzeiro has steadily fallen in valye against the dollar since Porto Alegre made the

Q3: (A) The Ain shams university received four cheques as collection proceeds of revenues,
the amounts of which were L.E 28000, L.E 42000 » L.E 17000 and L.E 12000 respectively,
When checking up the first cheque it ensued that it was not conform to the formality aspects
concerned.

As for the three other cheques, a credit advice Was received from the central bank
confirming their having been credited to the current account.

After some time, advice Was received to the effect that it was impossible to collect the 4™

university returned it to the customer, and collected the value thereof from him in cash
throughout a sub-treasury.

Required:

The journal entries related to the previous transactions.

(B) On March, 1, 2014 Sues Canal University drew cheque by L.E 800 as a
temporary petty cash in the name of Mr/ Ramadan who is an employee in the
University to buy some necessary items. Mr/ Ramadan has purchased items at
L.E 745 and returned the remaining amount to the University’s treasury (sub-
treasury)

Required : prepare journal entries to record the above transactions
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Menoufia University
Faculty of Commerce

Final Exam
English Section 2"-Semester (2014-2015) 24/5/2015
5 e mics Fi ear Time: Hours
Answer the fo

llowing questions, and use graph.
n One: :

A- Explain Phillips curve the short-run and long run,

B- Explain the relationship between the money supply and inflation

using the quantity theory of money.
Question Two:;

A- Define the unem
Reservation wag
B- Use the data be|

ployment rate, Structural
e, Discouraged workers,
Ow to calculate the following:

unemployment,

a, The size of the labor force,
Civilian population 300 million
Incapable of working 120 million
Not in the labor force 10 million b. The number of unemployed,
People with a full-time job 80 million
People with a part-time job 50 million
¢. The unemployment rate,
uesti 2
A-

Discuss the functions and measures of money,
B- Define banks and explain how they create money.
Io r:

A- List five important sources of growth.

B- Explain how the sources of growth can be turned into growth,
Question Five;
Differentiate between:

A- Real and nominal defi

B- Gross domestic product, Gross national product
C- Aflow concept and a stock concept.
D- Real GDP and nominal GDP,

cits and surpluses,

Good Luck,
Prof.,Dr. Sakr Ahmed Sakr

Dr. Wafaa Shehata
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Present value of an ordinary annuity Aﬁ]

14%
0.877
1.647
2.322
2914
3.433
3.889
4.288
4.639
4.946
5216
7.133
7.134
7.135
7.136
7.137
7.138
7.138
7.139
7.139
7.140
7.140
7.140
7.141
7.141
7.141
7.141
7.142
7.142
7.142
7.142
7.142
7.142
7.142
7.142
7.142
7.142
7.143
7.143
7.143
7.143
7.143

15%
0.870
1.626
2.283

2.855 "

3.352
3.784
4.160
4.487
4.772
5.019
6.661
6.661
6.662
6.663
6.663
6.664
6.664
6.664
6.665
6.665
6.665
6.665
6.666
6.666
6.666
6.666
6.666
6.666
6.666
6.666
6.666
6.666
6.666
6.666
6.666
6.666
6.667
6.667
6.667
6.667
6.667

16%
0.862
1.605
2.246
2.798
3.274
3.685
4.039
4.344
4.607
4833
6.246
6.247
6.247
6.248
6.248
6.248
6.248
6.249
6.249
6.249
6.249
6.249
6.249
6.249
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250
6.250

17%
0.855
1.585
2.210
2743
3.199
3.589
3.922
4.207
4.451
4.659
5.880
5.880
5.881
5.881
5.881
5.881
5.881
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882
5.882

18%
0.847
1.566
2174
2.690
3.127
3.498
3.812
4.078
4.303
4.494
5.554
5.554
5.555
5.555
5.555
5.565
5.555
5.555
5.555
5.555
5.555
5.565
5.555
5.555
5.555
5.555
5.555
5.555
5.555
5.555
5.556
5.556
5.556
5.556
5.556
5.556
5.556
5.556
5.556
5.556
5.556

[:A

2%
0.980
1.942
2.884
3.808
4.713
5.601
6.472
7.325
8.162
8.983
31.424
31.788
32.145
32.495
32.838
33.175
33.505
33.828
34.145
34.456
34.761
35.060
35.353
35.640
35.921
36.197
36.468
36.733
36.994
37.249
37.499
37.744
37.984
38.220
38.451
38.677
38.899
39.117
39.330
39.539
39.745

1.75%
0.983
1.949
2.898
3.831
4.748
5.649
6.535
7.405
8.260
9.101

33.141
33.554
33.960
34.358
34.750
35.135
35.514
35.886
36.252
36.611
36.964
37.311
37.652
37.987
38.317
38.641
38.959
39.272
39.579
39.881
40.178
40.470
40.756
41.038
41.315
41.587
41.855
42.118
42.376
42.630
42.880

Lol Al

1.50%
0.985
1.956
2.912
3.854
4.783
5.697
6.598
7.486
8.361
9.222

35.000
35.468
35.929
36.383
36.831
37.271
37.706
38.134
38.556
38.971
39.380
39.784
40.181
40.572
40.958
41.338
41.712
42.081
42.444
42.802
43.155
43.502
43.845
44.182
44.514
44.842
45.164
45.482
45.795
46.103
46.407

il
1.25%
0.988
1.963
2.927
3.878
4.818
5.746
6.663
7.568
8.462
9.346
37.013
37.544
38.068
38.585
39.097
39.602
40.100
40.593
41.080
41.560
42.035
42.503
42.966
43.423
43.875
44.321
44.761
45.197
45.626
46.051
46.470
46.884
47.292
47.696
48.095
48.489
48.878
49.262
49.642
50.016
50.387

ds
1.00%
0.990
1.970
2.941
3.902
4.853
5.795
6.728
7.652
8.566
9.471
39.196
39.798
40.394
40.984
41.569
42.147
42.720
43.287
43.849
44.405
44.955
45.500
46.040
46.574
47.103
47.627
48.145
48.659
49.167
49,670
50.169
50.662
51.150
51.634
52.113
52.587
53.056
53.521
53.981
54.437
54.888
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Present value of an ordinary annuity Aﬁl
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39.330
39.539
39.745

1.75%
0.983
1.949
2.898
3.831
4.748
5.649
6.535
7.405
8.260
9.101

33.141
33.554
33.960
34.358
34.750
35.135
35.514
35.886
36.252
36.611
36.964
37.311
37.652
37.987
38.317
38.641
38.959
39.272
39.579
39.881
40.178
40.470
40.756
41.038
41.315
41.587
41.855
42.118
42.376
42,630
42.880

Laiall 2l

1.50%
0.985
1.956
2912
3.854
4783
5.697
6.598
7.486
8.361
9.222

35.000
35.468
35.929
36.383
36.831
37.271
37.706
38.134
38.556
38.971
39.380
39.784
40.181
40.572
40.958
41.338
41.712
42.081
42.444
42.802
43.155
43.502
43.845
44.182
44514
44.842
45.164
45.482
45.795
46.103
46.407

gl
1.25%
0.988
1.963
2.927
3.878
4.818
5.746
6.663
7.568
8.462
9.346
37.013
37.544
38.068
38.585
39.097
39.602
40.100
40.593
41.080
41.560
42.035
42503
42.966
43.423
43.875
44,321
44.761
45.197
45.626
46,051
46.470
46.884
47.292
47.696
48.095
48.489
48.878
49.262
49.642
50.016
50.387

dra
1.00%
0.890
1.970
2.941
3.902
4.853
5.795
6.728
7.652
8.566
9.471
39.196
39.798
40.394
40.984
41.569
42.147
42.720
43.287
43.849
44.405
44955
45.500
46.040
46.574
47.103
47.627
48.145
48.659
49.167
49.670
50.169
50.662
51.150
51.634
52.113
52.587
53.056
53.521
53.981
54.437
54.888
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Menoufia university Final Exam, 2015
Faculty of commerce Course: O.B
Business administration dept. Time: Two hours

Answer the following questions:
Part One: Define the following terms

1. Diversity

2. Social and human capital

3. POB

4. Organizational socialization

5. Frustration-regression process
6. SMART Goal

Part Two:True or False
1. Organization socialization begins after the individual actually joins the

organization. T F
2.Three desired outcomes of conflict are avoidance, acceptance and
agreement T F
3.Dominating style of handling conflict is appropriate for complex issues
happened by misunderstanding g F
4.0bserving one’s own behavior and adapting it to the situation refers to self-

monitoring T F
5. Individuals with external locus of contrel have stronger expectations that

effort lead to outcome T F

Part Two:

1. Contrast McGregor's Theory X and Theory Y assumptions about people?
2. Identify Luthan's CHOSE Model of key POB Dimensions?

3. Identify the difference between content theories of motivation and process
theories of motivation? /

Part Tree:

1. Describe the types of organizational culture?

2. Explain the five conflict-handling styles and how can managers build cross-
cultural relationship?

3. Explain a social information processing model of perception?

4. Explain the three phases model of organizational socialization?

Best wishes
Prof. Dr.Shawky
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Answer the following questions:
Part One: Define the following terms

1. Diversity

2. Social and human capital

3. POB
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6. SMART Goal

Part Two:True or False
1. Organization socialization begins after the individual actually joins the

organization. T F
2.Three desired outcomes of conflict are avoidance, acceptance and
agreement T F
3.Dominating style of handling conflict is appropriate for complex issues
happened by misunderstanding g F
4.0bserving one’s own behavior and adapting it to the situation refers to self-

monitoring T F
5. Individuals with external locus of contrel have stronger expectations that

effort lead to outcome T F

Part Two:

1. Contrast McGregor's Theory X and Theory Y assumptions about people?
2. Identify Luthan's CHOSE Model of key POB Dimensions?

3. Identify the difference between content theories of motivation and process
theories of motivation? /

Part Tree:

1. Describe the types of organizational culture?

2. Explain the five conflict-handling styles and how can managers build cross-
cultural relationship?

3. Explain a social information processing model of perception?

4. Explain the three phases model of organizational socialization?

Best wishes
Prof. Dr.Shawky



l'\_.q‘l_x

Jetils} i
S 148l Gasedl £50lia P ke Olatal
el s gl SE gl Sl

lsiia ¢ Gladall s

A ALY e wal
(S020) . bl e oo am Y Lad A0 cilad) Bas of Aawa e G28G 1ol Jlgaw]
) by OlSally andly il (e (el el 0S5 ()
paainds Lailh opaally llEly Jaall (pa (psS5 Clang ) gBlons) msdly LS5 4S50 05 Lo (¥
s sdhapanll )
¥y LY e A5 3 gl Ggedl) gadal) paie 4 el (¥
oy by Gl 8 cllguall agiy A Ciladiall e Lol dE a4 Gl latie (£
cagally @bylaall e u_'m‘ asag e dladl ¢ Baiaa
ilipnSlly logeadd) Jia Ja¥) Spuad Jilall aladind I Clagell JaplS ageie sy (0
cslarally aldl e cidgall Cllal) dgand

2 £ % & . g ‘
(S )  Gagedl) B Akt Wl < (D1 J1ga]
o A clasiadl Bl andil angis sl QL) gale (Gl el Lujs diliels ¢ Yl
ehalaly ¢ cole o

Sl Silass (¥ Aglall clg il ()
Aagpdl Slaagll (£ Agaalylh bl (Y

bl e 3000 28,80 sl b Sy il Re g e : LG
Agiea e dala) el @S leyguall cDlae sal ) g e g ()
Basally aracaill Cus e Adbde CVLE 3ie O O Bpa Ale ol Lahds s (Y
el
.Rolex LSy, delu ehal Gyuyasl) oNSsH aaf e 205l gy Jlach o (¥



3= S

Faculty Of Commerce - Menoufia University |

Accounting For Partnerships Final kxam ... lst. Year |
$ i 2 Hours !

ARG RN LR RERFAERERREEERRARARRREER IRH AR AERERE AR REFLXRARERENRER

Answer The Following Questions In Full :- i

I R R SRR RN AR RS i

Q.1 Identify each of the following statement as true or false eeee
If false , indicate how to correct the statement seeececescssecs

a) The advantages of a partnership include ease of formation .
b) Mutual agency is a major advantage of the partnership .ces.
c) The net income of a partnership is taxed as a separate

entity .
d) When a partnership is dissolved, the assets legally revert

to the original contributor .
e) Upon formation of a partnership, each partner's initial

investment of assets should be recorded at their book values,

Q.2 A & B have capital balances on January 1 of £50,000 and

£40,000 respectively. The partnership income-sharing agreement
provides for (1) annual salaries of &20,000 for (A) &£ 12,000 for
(B)e (2) interest at 10 % on. beginning cabital balances , and
remaining income or loss to be shared 60% by (A) and 40% by (B).
Instructions:

Prepare a schedule showing the distribution of net income
assuming net income is £50,000 and Journalize the allocation of
net income mentioned above .

Qe3 The Best Company at December 31 has cash £20,000 , noncash
assets £100,000 , liabllities £55,000 , and the following
capital balances :(X) £45,000 and (Y) £20,000 . The firm is
liquidated, and £110,000 in cash is received for the noncash
assets . (X) and (Y) income ratios are 60 % and 40% respectively.
Instructions:Prepare the entries to record ;

(a) The sale of noncash assets .

(b) The allocation of the gain or loss on liguidation to the
partners .

(c) Payment of creditors . )

(d) Distribution of cash to the partners .

Qel4 (A) & (B) share income on a 6:4 basis. They have capital
balances of £100,000 and £70,000, respectively, when (2Z) is
admitted to the partnershin o
Instructions:

Prepare the journal entry to record the admission of (Z)* under

the following assumption .

e Investment of £ 90,000 cash for a 30 % ownership 1nterest
with a bonus to the existing partners .

Q.5 (X) & (Y) & (2Z) are partners who share profits and losses
50% & 30% and 20%, respectively. Their capital balances are
£100, 000 , £60,000, g 540 000 , respectively .

Instructions : Assume that (X) leaves the partnerskip. (X) 1e
paid £120,000 with a bonus to the retiring partner,
Prepare the journal ‘entry to record (X)' withdrawal

All the best .,
Prof, Dr. R.A.Radwan

Dr-M-kahdan



Faculty Of Commerce - Menoufia University :
Accounting For Partnerships Final kxam .. lst. Year
| 2 Hours

ERERRCEAR T RE R L R IR TR AR BRRRRRR AR AR ERRER TRE AT RA AR R ERRRAEFLRRRT AR RRRS
Answer The Following Questions In Full :-
R R R R RN R R NN R S I R N SR AR AR RS
Q.1 Identify each of the following statement as true or false eess

If false , indicate how to correct the statement seeeceesecssess

a) The advantages of a partnership include eass of formation .

b) Mutual agency is a major advantage of the partnershid .eee.

c) The net income of a partnership is taxed as a separate
entity .

d) When a partnership is dissolved, the assets legally revert
to the original contributor .

e) Upon formation of a partnership, each partner's initial

{
i

investment of assets should be recorded at their book values.

Q.2 A & B have capital balances on January 1 of £50,000 and
£40,000 respectively. The partnership income-sharing agreement

rovides for (1) annual salaries of £20,000 for (A) £ 12,000 for

?B)- (2) interest at 10 % on beginning canital balances , and

remaining income or loss to be shared 60% by (A) and 40% by (B).

Instructions:

Prepare a schedule showing the distribution of net income

assuming net income is £50,000 and Journalize the allocation of

net income mentioned above .

Qe3 The Best Company at December 31 has cash £20,000 , noncash
assets £100,000 , liabilities £55,000 , and the following
capital balances :(X) £45,000 and (Y) £20,000 . The firm is
liquidated, and £110,000 in cash is received for the noncash

assets . (X) and (Y) income ratios are 60 % and 40% respectively.

Instructions:Prepare the entries to record ;

(a) The sale of noncash assets .

(b) The allocation of the gain or loss on liguidation to the
partners .

{c) Payment of creditors . <

(d) Distribution of cash to the partners .

Qo4 (A) & (B) share income on a 6:4 basis., They have capital
balances of £100,000 and £70,000, respectively, when (2) is
admitted to the partnership .

Instructions:

Prepare the journal entry to record the admission of (2)\ under

the following assumption

e Investment of £ 90, 000 cash for a 30 % ownership interast
with a bonus to the existing partners .

Q.5 (X) & (Y) & (2Z) are partners who share profits and losses
S50% & 30% and 20%, respectively. ''heir capital balances are
£100, 000 s £60,000, & £40 000 , respectively .

Instructions : Assume that (X) leaves the partnership. (X) ie
paid £120,000 with a bonus to the retiring partner.
Prepare the journal entry to record (X)' withdrawal

All the best .,
Prof. Dr. R.A.Radwan

Dr- M-wahaan
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Minoufiya University
Faculty of Commerce
The English Section End Term Exam (May 2015)
Course: Principles of Marketing
Time: 2 Hours

First Question: {5 Marks) Explain why do you Agree or Disagree with the following
statements:

1When a firm decides to localize its products and services to meet local market demands, a
good approach to use is demographic segmentation.

2- The most basic level of a product is the actual product, which addresses the question: "what
is the buyer really buying"?

3- A conventional distribution channel consists of one or more dependent producers,
wholesalers, and retailers.

4- Short term incentives to encourage the purchase or sale of a product or service are called
publicity,

5- The simplest way to enter a foreign market is through exporting.

Second Question: (4 Marks) Marketing Applications:

First application: Royal Crown co. Designs and sells jewellery, despite the jewellery's popularity,
products are available only through a few shopping stores across the country.

Required: 1- What is the type of consumer products, Royal Crown is selling?
2- What distribution strategy does Royal Crown use?

3- What type of conflict Royal Crown is experiencing when one of the stores
complains that the jewellery they are being given is inferior to what the company
sells to other stores?

4- If Royal Crown decides to alter the distribution strategy so that its products
become accessible to the public only through one distributor, what is the
distribution strategy in this case?

Second Application: A pharmaceutical company in Germany recently released a new and
expensive anti cancer drug in the market. The company justifies the high price by
claiming that it is highly effective for treating all kinds of cancer. The company also
claims that the new drug will help bringing down the need for intensive surgeries, in
addition to other benefits for patients.

Required:
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aofiya University
Zulty of Commerce

<he English Section

Course: Quantitative Analysis

Answer the following questions:

First question: (5 marks)

1- The following sample observations were randomly selected:
i X: 6 5 4 | 5 3 7
[ Y | 8 7 9 | 10 6 5
a) Determine the regression equation.

b) Determine the coefficient of determination.

2- A survey of undergraduate students in the Menofiya University reveeled the following

regarding the gender an majors of students:

Final Exam

Year
Time: Two Hours
Date: 28/5/2015

T

Gender % Mjor

Accounting Management Finance
Male 100 150 50
Female 100 50 50

a) What is the probability of selecting a finance or accounting major?
b) What is the probability of selecting accounting major given the person selected is a

male?

Second question: (5 marks)

1- What is the advantages of mathematical modeling?

2- Solve the following problem using the simplex method:
Maximize profit = 4X, + 5X,
Subject to:
X1+2X,<12
5Xi+4X,<30
3X,+X,<15
Xi,X220

Third question: (5 marks)

1- What is the requirements of linear programming problem?

2- A firm has three factories, 1,2, 3, which ship their output to three warehouses. A o B
and C. The capacities of the factories for one month, the requirements of the
warehouses for one month, and the costs of shipping one unit from each factory to each
warehouse in dollars are given below:

To Warehouse Warehouse Warehouse | Factory capacity
From A B C (units) |

Factory 1 $5 $4 $3 150
Factory 2 $8 $4 $3 450
Factory 3 $9 $7 $5 450

Warehouse

requirement 450 300 300 1050

(units)

a) Find an initial solution to this transportation problem using the Northwest-Corner.
What is total cost? -

b) Test the unused cells using the stepping-

Compare the total cost.

stone method, find the optimal solution.

o omne [ Sertes Ty
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Menofya University
Faculty of Commerce

Terminology Part II Insurance Final Term Exam {H
English Sec. 1* year 16 . 6. 2015(2Hrs.for 2Parts)

Q. 1) Explain in details " Peril " & " Hazard " (1.5 degree)

Q. 2) Rewrite the following words & Translate to Arabic (30 words ) 3 degrees

* Current Account

* Average Statement

* Notice of Cancellation
* Floating Policy

* Insurance Broker

* Due

* Depreciation

*F.P.A.
* Guaranteed Creditor

* Sub-Agent

* Premium

* Condition of Average
* Insurance Contract

* Free on Board

* Guarantee

* Damage Repairs

* Damage by Explosion
* Freight

* Carrier

* Arbitration

* Arbitration

* Bill of Entry
* Co-Insurance
* Physical Hazard
* Declaration
* Delivery Order
* In Force
* Fraction
* Cover Note

* Bill of Sale
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Menofyia University, June 16™ 2015.
Faculty of Commerce, English Section. Time: 2 hours.

Course:: Commercial Terminology. Final Exam for_the 1 year student, Spring Semester, 2015.
The Accounting Part:
Question 1: ( 3.5 marks )

Following is the balance sheet items for Hani's company on 31% of Marc, 2015:

-Cash 65,000 -Debitors 80,000 - Inventory 70,000 -short-term investments 90,000
-Buldings 100,000 -Buliding Accumulated depreciation 20,000 -land 70,000

—Creditors 70,000 - Long-term loan 90,000 -Capital 120,000 -Netincome 260,000 -
Withdrewals 10,000.

Required: Prepare the clssified balance sheet for the company in Arabic.

Question 2: (4 marks )

Following are some items related to "Farah” company'’s cash flows for the first quarter of year 2015:
-Cash receipts from customers 248,000 -cash sales 200,000

-Cash payment to suppliers 270,000
- Cash payment to operating expenses 49,000 —Other operating expenses 38,000

-purchase of investment 25,000 -purchase of plant assets 90,000
-Cash in (revenues) from financing activities 65,000 -Cash paid for dividends 15,000.
Required:

Prepare the cash flows statement for the company at the end of the first quarter of year 2015

end of tl}e questions.
Good Luck PRV
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Answer the following questions
Question 1: (4 grades, 30 minutes)
A: Define the following accounting terms: Accounting, Assets, and liabilities

B: Mother Hips Garment Company purchased equipment on June 1 for $80.000, paying $20.000
cash and signing a 12%, 2-month note for the remaining balance. The equipment is expected to
depreciate $15.000 each year. Mother Hips Garment Company prepares monthly tinancial
statemnents.

Instructions

1.Prepare the general journal entry to record the acquisition of the equipment on June 1st.
2.Prepare any adjusting journal entries that should be made on June 30th.

3.Show how the equipment will be reflected on Mother Hips Garment Company’s balance

sheet on Junc 30th.

Question 2: (3.5 grades, 30 minutes)
A: Preparc an income statement. an owner's equity statement, and a balance sheet for the Menoufia
company, from the items listed accounts below for the month of September, 2014.

Owner’s Capital, September | $47,000 Accounts payable 7.000
L-quipment 35,000 , Service revenue 28.000
Owner’s Drawings 6.000 . Supplies expense 4.500
Cash 6,000 | Utilities expense 700
Supplies 4,800 . Salaries expense 9.000
Accounts receivable 14,000 Rent expense 2.000

B: Match the statements below with the appropriate terms :

TERMS STATEMENTS
A. Prepaid F;xpcnsc_s. TR | 1A revenue not yet carned; collected in advance.
| B. Unearned Revenucs 2.0ffice supplies on hand that will be used in the next period.
| C. Accrued Revenues 3. An expense incurred; not yet paid or recorded
D. Accrued Expenses 14 Rentnotyet collected; already earned. ‘

With my best wishes, M. Wahdan, PhD
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